Elégtelen részvizsga V= vizsga MJ = |
i mp = méreési pont megjegyzes
Hozott mérési pont vp = vizsga pont
NK Mérések Elévizsga

max 40 [p] |max 20 [mp max 70 [p] |max 100[%] |max 100[%] [max 40[vp] |max 40[vp] [max 100 6sszpntsz. 5

min 16 [p] |min 8 [mp] min 28 [p] |min 40[%] |min 40[%]* [min 16[vp] |min 16[vp]* |min 40 6sszpontsz. 1
NK SMér [p] |SMér [mp] [MJ. Ar V[p] |ArV[%] H6 V [%] Y Ar [vp] SHG6 [vp] Y Mér[mp]+3Ar[vp]+>H6[vp] |Jegy MJ
JOQWWCM 34 17 42 60 80 24 32 73 4
A0QZ6C 37 19 64 91 60 37 24 79 4
UOJKUI 35 18 47 67 40 27 16 60 3|H6+4%
MOS9PP 39 20 29 41 40 17 16 52 2|H6+7%
VDB92E 34 17 41 59 25 23 10 sl 0 |
BZCG19 38 19 64 91 47 37 19 74 4
0O9F954 37,5 19 67 96 64 38 26 83 4
AWG5KD 39 20 37 53 67 21 27 67 3
YK5SQD 38 19 52 74 30 30 12 61 3|H6+6%
H70VEQ 39 20 60 86 57 34 23 77 4
ZZMEF8 35 18 33 47 33 19 13 50
PFOIIR 39 20|1. jgyz jav 23 33 10 13 4 37
C33FBY 35 18 58 83 22 33 9 59
IUKU44 38 19 61 87 90 35 36 90 5|H6+25%
ZIMWT7N 35 18 41 59 40 23 16 57 3|H6+5%
COYEHY 30,5 15 55 79 47 31 19 65 3
LDLFVH 36 18 25 36 61 14 24 s 0
QUI8DB 34 17 64 91 66 37 26 80 4
RMOCT?2 34,5 17 46 66 59 26 24 67 3
UKO77J 38 19 64 91 80 37 32 88 5
QRNSEC 37,5 19 68 97 74 39 30 87 5
CKO1K5 80 16|régi mér. 55 79 26 31 10 s 000
S5062K 36 18 54 77 34 31 14 62 3
ITIEGU 31 16 58 83 61 33 24 73 4
WPGDWYV 50 10|régi mér. 44 63 2 25 1 36
BDJAUR 37,5 19 40 57 30 23 12 54
ABTODV 33 17 67 96 40 38 16 71 4
POR7XK 80 16|régi mér. 60 86 58 34 23 73 4
BA8PL4 70 14|régi mér. 30 43 1 17 0 32
E92WWR 33 17 49 70 28 28 11 56




A3TASE 34,5 17 63 90 69 36 28 81 4
DGS28S 90 18[régi mér. 51 73 29 29 12 59

ANOX4R 36 18 60 86 95 34 38 90 5

BTTZXI 39 20[1-jgyz jav 62 89 65 35 26 81 4
AYW98X 37,5 19 39 56 22

FXTGPO 35 18 65 93 40 37 16 71 4|Ar+10p
OWOV3I 36 18 56 80 89 32 36 86 5
CP8GVW 70 14|régi mér. 64 91 0 37 0 s 00
VAXTYA 37 19 52 74 49 30 20 68 3

H7RS8J 40 8|régi mér. 59 84 37 34 15 57 3

ZUT7SL 35,5 18 42 60 58 24 23 65 3|H6+10%
DM12QD 37 19 65 93 100 37 40 96 5
BN10HG 80 16[régi mér. 37 53 45 21 18 55 3[H6 +5%




